Supplementary data 1
Standard curve of wheat plant metabolite content under normal condition
1. 6-BA       
Regression Equation:	   y = 14549.24955 x + 169.70057 (r = 0.99110)  
[image: $[CALIBRATION CURVE]$]  
2. IPA 1        
Regression Equation:	y = 3.84220e5 x + 27125.60005 (r = 0.99189)
[image: $[CALIBRATION CURVE]$]
3. GA3    
Regression Equation:	y = 7121.09809 x + 775.88202 (r = 0.99077)
[image: $[CALIBRATION CURVE]$]
4. SA     	
Regression Equation:	y = 22037.83061 x + 4650.80376 (r = 0.99072) 
[image: $[CALIBRATION CURVE]$]
5. GA7     	
Regression Equation:	y = 10056.28693 x + 1184.95366 (r = 0.99204)
[image: $[CALIBRATION CURVE]$]
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